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No calculator!! Show your work!?

LN In the circle O below ifmsB = 20°
find mACB
A 40°
B 146°
C 220°
D 320°
E None of these

Figure 6

. In right AABC in Figiire 6, smAtcosB is

G : ) . cosB
@ In the rectangle ABDC below, what is . equal to which of the following?
the measure of LACB? | 5 2 B2 © 2 o 2% @ e
A 63 ' . c b c
oo - E ¢
B 53 :
C 37
D 45°. . C ) _'
E It cannot be determined from the ‘k . iIn AABC shown below, A= 30" :

© information given. - c 60° and AC = 10. Find BD.

)i In the rectangle below, What is. the
“ area of the' shaded regmn‘?

\A‘“’ A 10w
. B 4362 .
. C 10w — 4x
12D 10w — &
C R lﬁw 4x? .
| .]In the ﬁgure below, AAOB and A PCB . A cu'cle is mscnbed ina square as
'shiown in the figure beltw. "‘What'is the

are isosceles right triangles with’

Yao:
- VJV(\, equal areas. What are the coordmates -ratio of the area of the shaded reglon. to
. of point P? , the area of the square‘) ST
A (6,0 AT
B (6,12) B 177
C (12,0 C 4z
D (©,12) D £
. iy
¥ (12,6)" DI
. 1 — ,n_
In circle O, AB is a chord, OA and A @ AABC is inseribed in a circle.
‘OB are radii, m/_AOB .120°, and - m/A = 40°, and m£C = 80°. W}nch
AB = 12. Find the d1stance from the = . ' is the shortest chord? - - -
chord to the center of-thé c1rcle . ‘A AB B BC :
A 2V3 . }34\/'92 S C CA D AC=BC
C 3 D &% - . . ~E It cannot be determined from the
information given. '

E It cannot be determmed from the

mforfnatlyon éveé _n*Ch eck“ A A B%B CC E E .



